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15:15 REKXI 3(0-000 REIKBI TRERAIZG) A
1515 | UhcXKIB 4(3-0)0 RHKI2 RAH X (HAEG) A
’ 5/11(%) 11:00 BE%KB2  0(0-0) 1 fREEAC REAX(GRNDEG) A
13:15 |BIAREDGROW 1 (0-1) 1 ESEERNG) BEFR X (B HiG) A-C
13:00 NN 6 (3-0) 0 BEEX AR (FEILG) 1SR
7/21(H) 13:00 EHEB 2(0-000  BkILIKA2 LK (A12G) A
18:15 RiEX 1 7(4-0)2 FEFEXBI ABEAE—G) c
5/18(+) 15:15 HEB 0(0-3)6 P42 AB EfEX(ATZG) __A
5 13:00 KEXL  1(0-4)4 EEX BEEAAIZG  [1HEHEHME
18:30 B2 AB2 4(2-0) 1 RHKI2 BEX(FE4714—ILF) A
5/19(H) 1530 | UHhZKIB 5(3-0)0 IREAC |UbhIK(HvH—Ta4—ILF) A
13:15 |BAREDGROW 2 (2-1) 1 BRI KA2 BEFA X (B HiG) A-C
5/25(+) 1315 | UhcXKIB 4(1-0)3 BAEX UbhIK(Hvh—T4—IK) A
16:30 Bi%XkB2 2(0-0)0 EH@EB BEX(F4714—ILF) A
3 5/26(H) 9:00 kL KA2 2 (1-0) 1 fREEAC LUK (A1 G) A
6/29(+) 12:00 REKXI 1(1-2) 2 BE{EAB RKEX(EEIFEIG) A
15:15 NN 5 (2-0) 0 REKI2 RAH X (HAEG) A
8/4(H) 14:00 |BIAREDGROW 1(0-0)0 HEFABI A (FELUFRG) A
15:15 F B 1(1-1)3 #EXRBI TRERAIZG) A
6/1(L) 15:15 BfEAB  6(1-1)1  AHKAR ABXRHRG) A
4 16:30 Bi%KkB2 8(2-0)0 BEEX BZEX(F4714—ILF) A
6/2(H) 13:15 | UHZKIB 3(2-2) 2 BIKREDGROW BEFR X (B HiG) A-C
7/13(1) 14:15 RKEKXI 1(1-0) 3 HELLIKA2 LK (A12G) A-C
7/6 (%) 15:30 NG 7 (2-0) 0 fREEAC AR (FEILG) 1R & RE
5/25(+) 15:15 REKXI 2 (1-1) 1 REKI2 RAH KX (AEG) A
15:00 NN 1(1-0)2  #kILIKA2 LK (A12G) A
5 6/8(t) 14:30 B AB2 1(1-1) 1 PIAREDGROW| PRI K (FEA4T4—ILK) A-C
17:45 HEB 1 (0-0) 0 BEX BmK(SYE—#Hyh—18) A
6/9(H) 16:00 ESEERNG] 5 (1-1) 1 fREEAC REAX(ERNDEG) A
6/29(+) 1415 | UhcKIB 3(0-000 REABI |[UbhZKHyHA—T4—ILF) A
13:00 NN 3 (2-0) 1 BE{EAB AR (FEILG) C+D
1245 | UHcKIB 1(0-D2  #kILKA2 BLUA (A2G) A
6 6/23(H) 17:15 B AB2 5(2-23 EFEABI BEX(F4714—ILF) A
17:45 EHEB 4 (1-0) 2 RKEK2 [BmA(STE—FYvh—i8) A
11:00 [BIAREDGROW 6 (3-1) 1 BEEX BEEX(AIZG) A
16:00 REKXI 4(3-0)0 fREEAC REAX(GRNDEG) 1R & RE
9/14(%) 11:00 NN 2 (1-0) 1 BIXREDGROW BEFA X (B HiG) c
15:15 RHAR2  0(0-000 FREABI REAR(ATZG) A
7 9/15(H) 17:45 B AB2 1(0-0)2  #kILIKA2 BEX(FE4714—ILF) A
14:15 RKEKXKI  o0sERES) UbHZKIB [UbIXK(Hyh—T4—ILE) A-C
9/16 (A1) 17:45 HEB 3-0GRIRAS) fREKC BEXGIE—FYvyh—i5) A
14:15 BE{EAB 5 (4-0) 1 BAEX BfERK(AIZG) A
16:45 NN 5 (3-0) 0 EHEB KEKANIZHyvH—I8) A
13:15 | UHhZKIB 4(2-0)1 BEEAB |[UbIK(Hyh—T1—ILF) A
g 9/21(+) 15:15 [BIAREDGROW 5 (2-0) 0 RHEKI2 RAH KX (EEG) A
14:15 BILKA2  4(1-0)0 BEEX LK (A12G) A
16:00 IREEAC  0-3CENEE) R ABI REAX(EGRNDEG) A
18:25 KEKI o3RRS BFAB2 B K (E4T74—JLK) A-C
15:30 NN 1 (0-0) 2 B KB2 BHEX(FE4714—ILF) [
13:15 REKXI 1 (0-5) 7 BIKREDGROW BEFR X (B HG) A-C
9 9/28(+) 1745 | UhcXIB 5(@3-1)2 EHEB BEAGITE—FYvyh—i8) A
15:15 ESEERNG) 3(3-3)3  REIKBI TRERAIZG) A
15:15 B KA2  4(1-0) 2 RHKI2 RAH X (HAEG) A
16:00 fREEAC 3 (0-0) 1 BEEX REX(EGRNDEG) A
11:00 RHKI2 1(1-3) 4 BEEX BEEX(AIZG) A
10/5(t) 19:00 REKXI 1(-1)2 EHEB RKEX(EEIFEIG) 1SR
10 15:15 L KA2 230-000 HEABI kLK (A12G) A
18:30 BgZAB2 2(1-1)1 BE{EAB BHEX(FE4714—ILF) A-C
10/6(8) 16:00 AKX 1 1(1-000 U KIB AR (FEILG) 1SR
17:30 |EAREDGROW 0 (0-0) 1 fREEAC BAEK(FELUPRG) [1HESHE
10/14(8 -#) 13:00 BE{EAB 1(0-1)3  #kILKA2 LK (A12G) A
10/19(%£) 1515 | FEABI  4(2-0)2 BEEX REAR(ATZG) A
11 10/13(8) 1830 | UhoXKIB 4(3-2)3 B KB2 BEX(F4714—ILF) A-C
15:30 NN 4(2-2) 2 REKXI AR (FEILG) C
9/19(K) 15:45 HmB 1(0-1) 2 B§KREDGROW| HFEFKA (FIA4>714—ILRG) A
9/25(K) 11:00 IREAC o3Gamas)  KHKI2 REAX(EGRNDEG) A
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*5/14F 17 - BRI R

*5/13{F (1 BI2IRE
*7/94F1F - BIZRTE

*6/194F (- BIRRTE

*9/24F1F - BIZRTE
*9/19F (- BIZIRE
*9/44F1F - BIZRE

*9/301F (- BI2IRE
10/10/F 1 AREE (4 4)

*10/131F 17 - BIZRE

*9/25(F (- BIRRE
*9/10fF (- BIRRE
*9/18{F (- BIRRE



